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Pos.| PIC| No. %'“I] type car DS53R Best Tm | RAFEHEE|IN Lap| Z= GAP | Area
1| 1] 20[pnE #% [FD3S Ve =2 h—7v] 1:01.394 91533] 21]- - 8
2| 2| 21[EH K& [Sw20 Y enNZ-2h—3| 1:03.640 88.303| 20| 2.246| 2.246|F4NE
3] 1 2[JIl%f RWIE  [BE19 RlXL— 2 RIRKis|4Vh —M—-7Y 1:04.738 86.805 71 3.344] 1.098[Ix B2
4l 2 1457 E4% |BE18 BIRL— vy < vE—is|AUk —MI—5Y 1:05.864 85.321 16] 4.47] 1.126|IxB2 182
5] 3] 24[/hAEY) FEH [AK12 AK12%—F Y e =—Ah—3v] 1:06.493 84.514 4| 5.099] 0.629|F40E2
6] 3 7B EAN [BE19 AVl —M—3Y 1:07.392 83.387] 12| 5.998| 0.899|Z %02
71 4] 48K EX |BEI18 BIXL— oy <uF—is|{Ayh - I—5Y 1:07.548 83.194| 20| 6.154| 0.156[IF B2
8] 5] 3[X#& #BEH [BE18 BlztL— 24 to=—is|AUk —bI—FY 1:07.950 82.702| 34| 6.556| 0.402|F40E
9] 4] 25[8BXRER ZVW30  |TkL—2o4 TYSAR[V vn=—-2h—-3v| 1:08.541 81.989 4] 7.147] 0591|5018
10, 6 5|a BT [BEI1S BL— s WiEEis |4k - M—5Y 1:08.638 81.873 10| 7.244] 0.097|I B2
11 5| 23[#)Il <—IX YenNZ-Ah—=3v| 1:11.144 78.989] 33| 9.75] 2506|112
12 7 6Bl ®LF [7V3-106[73—106 AVl —M—3Y 1:12.189 77.846]  20[ 10.795] 1.045|IF B2
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